
L3(7).3 (mod 2)

blocks defect matrix

G : 1 5 12× 3
2 5 12× 3

3 = 2 5 12× 3
4 2 4× 1
5 0 2881 = χ7,0, ϕ6,0

6 0 2882 = χ7,1, ϕ6,1

7 0 2883 = χ7,2, ϕ6,2

8 = 5 0 2884 = χ8,0, ϕ7,0

9 = 7 0 2885 = χ8,1, ϕ7,1

10 = 6 0 2886 = χ8,2, ϕ7,2

11 0 2887 = χ9,0, ϕ8,0

12 0 2888 = χ9,1, ϕ8,1

13 0 2889 = χ9,2, ϕ8,2

14 = 11 0 28810 = χ10,0, ϕ9,0

15 = 13 0 28811 = χ10,1, ϕ9,1

16 = 12 0 28812 = χ10,2, ϕ9,2

17 0 28813 = χ11,0, ϕ10,0

18 0 28814 = χ11,1, ϕ10,1

19 0 28815 = χ11,2, ϕ10,2

20 = 17 0 28816 = χ12,0, ϕ11,0

21 = 19 0 28817 = χ12,1, ϕ11,1

22 = 18 0 28818 = χ12,2, ϕ11,2

3.G : 23 5 12× 2
24 5 12× 2
25 5 12× 2

26 = 23∗
27 = 25∗
28 = 24∗

29 0 28819 = χ25+, ϕ14+

30 = 29∗
31 0 28821 = χ28,0, ϕ17,0

32 0 28822 = χ28,1, ϕ17,1

33 0 28823 = χ28,2, ϕ17,2

blocks defect matrix

34 = 31∗
35 = 33∗
36 = 32∗
37 = 34 0 28827 = χ29,0, ϕ18,0

38 = 36 0 28828 = χ29,1, ϕ18,1

39 = 35 0 28829 = χ29,2, ϕ18,2

40 = 37∗
41 = 39∗
42 = 38∗

43 0 28833 = χ30,0, ϕ19,0

44 0 28834 = χ30,1, ϕ19,1

45 0 28835 = χ30,2, ϕ19,2

46 = 43∗
47 = 45∗
48 = 44∗
49 = 46 0 28839 = χ31,0, ϕ20,0

50 = 48 0 28840 = χ31,1, ϕ20,1

51 = 47 0 28841 = χ31,2, ϕ20,2

52 = 49∗
53 = 51∗
54 = 50∗

55 0 28845 = χ32,0, ϕ21,0

56 0 28846 = χ32,1, ϕ21,1

57 0 28847 = χ32,2, ϕ21,2

58 = 55∗
59 = 57∗
60 = 56∗
61 = 58 0 28851 = χ33,0, ϕ22,0

62 = 60 0 28852 = χ33,1, ϕ22,1

63 = 59 0 28853 = χ33,2, ϕ22,2

64 = 61∗
65 = 63∗
66 = 62∗



Block 1: ϕ1,0 ϕ2,0 ϕ12,0

11 = χ1,0 1 . .
561 = χ2,0 . 1 .
571 = χ3,0 1 1 .

3421 = χ13,0 . . 1
3424 = χ14,0 . . 1
3427 = χ15,0 . . 1
34210 = χ16,0 . . 1
34213 = χ17,0 . . 1
34216 = χ18,0 . . 1
34219 = χ19,0 . . 1
3431 = χ20,0 1 . 1
3991 = χ21,0 1 1 1

ϕ1,0 = 11
ϕ2,0 = 561
ϕ12,0 = 3421

Block 2: ϕ1,1 ϕ2,1 ϕ12,1

12 = χ1,1 1 . .
562 = χ2,1 . 1 .
572 = χ3,1 1 1 .

3422 = χ13,1 . . 1
3425 = χ14,1 . . 1
3428 = χ15,1 . . 1
34211 = χ16,1 . . 1
34214 = χ17,1 . . 1
34217 = χ18,1 . . 1
34220 = χ19,1 . . 1
3432 = χ20,1 1 . 1
3992 = χ21,1 1 1 1

ϕ1,1 = 12
ϕ2,1 = 562
ϕ12,1 = 3422



Block 3: ϕ1,2 ϕ2,2 ϕ12,2

13 = χ1,2 1 . .
563 = χ2,2 . 1 .
573 = χ3,2 1 1 .

3423 = χ13,2 . . 1
3426 = χ14,2 . . 1
3429 = χ15,2 . . 1
34212 = χ16,2 . . 1
34215 = χ17,2 . . 1
34218 = χ18,2 . . 1
34221 = χ19,2 . . 1
3433 = χ20,2 1 . 1
3993 = χ21,2 1 1 1

ϕ1,2 = 13
ϕ2,2 = 563
ϕ12,2 = 3423

Block 4: ϕ3+

4561 = χ4+ 1
4562 = χ22,0 1
4563 = χ22,1 1
4564 = χ22,2 1

ϕ3+ = 4561

Blocks 23, 26: ϕ13,0 ϕ23,0

574 = χ23,0 1 .
5710 = χ24,0 1 .
34222 = χ34,0 . 1
34228 = χ35,0 . 1
34234 = χ36,0 . 1
34240 = χ37,0 . 1
34246 = χ38,0 . 1
34252 = χ39,0 . 1
34258 = χ40,0 . 1
3994 = χ41,0 1 1
39910 = χ42,0 1 1
4565 = χ43,0 2 1

ϕ13,0 = 571
ϕ23,0 = 3424



Blocks 24, 28: ϕ13,1 ϕ23,1

575 = χ23,1 1 .
5711 = χ24,1 1 .
34223 = χ34,1 . 1
34229 = χ35,1 . 1
34235 = χ36,1 . 1
34241 = χ37,1 . 1
34247 = χ38,1 . 1
34253 = χ39,1 . 1
34259 = χ40,1 . 1
3995 = χ41,1 1 1
39911 = χ42,1 1 1
4566 = χ43,1 2 1

ϕ13,1 = 572
ϕ23,1 = 3425

Blocks 25, 27: ϕ13,2 ϕ23,2

576 = χ23,2 1 .
5712 = χ24,2 1 .
34224 = χ34,2 . 1
34230 = χ35,2 . 1
34236 = χ36,2 . 1
34242 = χ37,2 . 1
34248 = χ38,2 . 1
34254 = χ39,2 . 1
34260 = χ40,2 . 1
3996 = χ41,2 1 1
39912 = χ42,2 1 1
4567 = χ43,2 2 1

ϕ13,2 = 573
ϕ23,2 = 3426


